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UIL ACCOUNTING

Regional 2005-R

Group 1

For questions 1 through 23, indicate whether each account is debited or credited during the closing process or whether the account or item is not closed.  Write the correct answer on your answer sheet using the following code:



DR=debit         CR=credit         NC=not an item to be closed

  1. Transportation In





13. Book Value of Accounts Receivable

  2. Trade-in Value






14. Land

  3. Purchases







15. Depreciation Expense

  4. Bad Debts Expense





16. Angel Perez, Capital

  5. Sales








17. Purchases Discounts

  6. Sales Tax Payable





18. Prepaid Insurance

  7. Accumulated Depreciation—Trucks

19. Merchandise Inventory

  8. Sales Discounts






20. Gain on Plant Assets

  9. Income Summary (net income) 


21. a partner’s drawing account

10. Cost of Delivered Merchandise


22. FICA Tax Payable

11. Allowance for Uncollectible Accounts
23. Payroll Tax Expense

12. Cost of Merchandise Sold

Group 2

The Reliant Co. has the following information about an item it sells for $20 each.  During the year the company sold 779 units.  

	
	
	Number of

Units
	Cost per

 Unit
	    

	Jan 1
	Beginning Inventory
	15
	12.10
	

	Feb 3
	Purchase
	220
	12.15
	

	Mar 18
	Purchase
	110
	12.55
	

	Apr 20
	Purchase
	90
	13.05
	

	July 2
	Purchase
	180
	13.60
	

	Aug 30
	Purchase
	60
	13.75
	

	Nov 2
	Purchase
	120
	14.10
	

	Dec 5
	Purchase
	40
	14.20
	

	
	
	    
	
	


For questions 24 and 25, write the correct amount on your answer sheet.

  *24. What is the amount of gross profit for the year if the FIFO method of inventory 


      valuation was used?

 *25. What is the amount of gross profit for the year if the LIFO method of inventory 

       valuation was used?

Group 3

A company called Hands Up located in Texas manufactures latex gloves used in the medical industry.  Hands Up purchased a new machine that will enable them to make gloves in various colors.  It was purchased on April 1, 2004 for $210,000.

Even though the machine was assembled in Chicago, Hands Up was required by the state of Texas to pay Texas sales tax of $14,220 because the Chicago company also had operations in Texas.

Hands Up was required to pay $7,200 to have the machine transported to Texas. 

Upon arrival a specialized crew had to install the new machine at a cost of $4,440.

The machine was fully operational by April 12, 2004.

The machine’s technology is actually two years old, and the market value in 2002 was $225,000.

Hands Up estimates the useful life of the asset to be 10 years.  The estimated value of the machine at its replacement time is determined by Hands Up to be $54,000.

Hands Up uses the straight-line method for depreciation of machinery.  It is company policy to prepare adjusting entries only at the end of the fiscal year, which is December 31.

For questions 26 through 35, write the correct amount/year on your answer sheet.

26. What is the book value of the machine when it was first placed into operation?

27. What is the estimated amount to be depreciated on this machinery?

28. What is the estimated annual (full year) depreciation expense?

29. What is the estimated monthly depreciation expense?

30. What amount should be debited to depreciation expense in 2004?

 *31. What is the book value of the machine on 1-1-08?

32. What is the balance of Accumulated Depreciation (for this machine) on 1-1-10?

33. The machine will have an adjusting entry for depreciation expense in years 2004 

      through what year?

 *34. What is the amount of the adjusting entry for depreciation for this machine in the

final year?

 *35. If the machine had been purchased and placed into operation on August 1, 2004, 

      what would be the amount of the adjusting entry for depreciation in the final year?

Group 4

Information related to Spring Co. for 2004 before adjusting entries is summarized below:

	
	

	 Net Cash Sales
	$860,000

	Net Charge Sales
	$285,000

	Accounts Receivable on 12-31-04
	$65,000

	Bad debts written off in 2004
	$3,650

	
	


For questions 36 through 40, write the correct amount on your answer sheet.  Each question is independent from the others unless noted otherwise.

36. Assume that Spring Co. uses the allowance method of accounting for uncollectible 

 
accounts.  The company estimates that uncollectible accounts will be 1.5% of 


net charge sales.  What amount of bad debts expense will Spring Co. record if 


Allowance for Uncollectible Accounts has a credit balance of $650 before the 

      adjusting entry?

 *37. Assume the same facts as in question #36, what is the book value of accounts


receivable after all adjusting entries are posted?

38. Assume that Spring Co. uses the allowance method of accounting for uncollectible 


accounts.  The company prepares an aging of accounts receivable on 12-31-04 and 


determines that $5,360 of its accounts receivable will be 
uncollectible.  What 
amount of bad debts expense will Spring Co. record for 2004 if Allowance for 


Uncollectible Accounts has a credit balance of $790 before the adjusting entry?

 *39. Assume the same facts as in #38, except that there is a $1,100 debit balance in 


Allowance for Uncollectible Accounts before the adjusting entry because more


accounts were written off in 2004 than had been estimated the previous year.  What 


amount of bad debts expense will Spring Co. record?

40. What amount of bad debts expense will Spring Co. report for 2004 if it uses the 


direct write-off method of accounting for bad debts?

Group 5

For questions 41 through 49 write the identifying letter of the best response on your answer sheet.

41.
Merchandise Inventory is classified as a _?_; whereas the delivery van that 


transports the merchandise sold to the customers is classified as a _?_.

A. current asset; contra asset


B. plant asset; plant and equipment asset


C. current asset; plant asset

42.
Which of the following statements is true?


A. Depreciation entries are necessary to reflect the change in fair market values of 


     assets owned.


B. Every asset is depreciated until its book value is zero.


C. The cost of land is not depreciated.


D. All the above are true statements.

43. 
The estimated useful life of a machine is the number of years the machine is



expected to be used before it


A. wears out


B. becomes outdated


C. is no longer needed by the business


D. all the above


E. only A and B

44. 
How should a machine be reported on the Balance Sheet?


A. only its original cost


B. only the book value amount


C. the original cost, the accumulated depreciation, and the book value


D. item “C” above plus the machine’s current fair market value

45.
What amount is closed to Income Summary?


A. the book value of an asset


B. the depreciation expense for the current year


C. the amount in the accumulated depreciation account in the second year


D. none of the above

46. 
A difference between using the direct write-off method and an allowance method is


A. When an account is written off, the direct write-off method requires a debit to


     Accounts Receivable.


B. When bad debt expense is calculated under an allowance method, it must be


     debited to Allowance for Uncollectible Accounts.


C. When an account receivable is reinstated after having been written off, the


     direct write-off method requires a credit to Bad Debts Expense.

Group 5 continued

47.
In times of inflation the LIFO inventory costing method creates _?_ profits and a


_?_ asset value than FIFO.


A. lower; lower


C. lower; higher


B. higher; higher 

D. higher; lower

48. 
The actions of one partner acting on behalf of the partnership are binding on all


partners.  This is known as


A. joint powers



C. mutual agency


B. rights of survivorship

D. reciprocal liability

  **49.
A company bought a truck on January 1, 2004 that had an original cost of $50,000,


with an estimated salvage value of $5,000 and an estimated useful life of 10 years.


What is the book value as of 12-31-06 after adjusting entries using the double-


declining balance method?


A. $20,480

B. $25,600

C. $28,350

D. $32,000

E. $36,500

Group 6

Refer to the data in Table 1 on page 9.  For questions 50 through 56, write the identifying letter of the best response on your answer sheet.

50. The opening entries of the partnership to record the original investments made by

 the partners would include a: 

A. credit to Hilton & Train, Capital for $142,500

B. credit to Hilton & Train, Capital for $150,000

C. credit to London Hilton, Capital for $107,500

D. credit to Shania Train, Capital for $60,000

51. The partners’ drawing entry on November 15, 2004 would include a debit to:

A. Hilton & Train, Withdrawals for $10,000

B. London Hilton, Withdrawals for $8,000

C. Hilton & Train, Capital for $10,000

D. London Hilton, Capital for $8,000

52. If the partnership agreement had not stated how the net income or net loss is to be 

divided, each partner’s share of 2004 net income would be divided:


 Hilton

  
  Train
A.
$30,000

$30,000

B.
$42,000

$18,000

C.
$36,000

$24,000

D.
$60,000

$60,000

Group 6 continued

*53. According to the partnership agreement, net income for 2004 is divided:


 Hilton

  
  Train
A.
$30,000

$30,000

B.
$42,000

$18,000

C.
$36,000

$24,000

D.
$39,600

$20,400

*54. If the partnership agreement had stated that net income or net loss is to be divided 

on a fractional share basis and the ratio is 4 to 1 for Hilton and Train respectively,

each partner’s share of net income for 2004 would be:


 Hilton

  
  Train
A.
$36,000

$24,000

B.
$39,600

$20,400

C.
$42,000

$18,000

D.
$48,000

$12,000

55. The closing entry to close net income would include a

A. debit to the account called Hilton & Train, Capital

B. credit to the account called Hilton & Train, Capital

C. debit to Income Summary

D. both B and C

**56.  If the net income for the year 2005 is $90,000, each partner’s share of the 2005 

       net income would be

       Hilton

  
  Train
A.
$45,000

$45,000

B.
$59,400

$30,600

C.
$54,000

$36,000

D.
$72,000

$18,000

Group 7

For questions 57 through 80 refer to the data in Table 2 on pages 10 and 11 and to the work sheet on page 12. The work sheet will not be reviewed by the graders.

For questions 57 through 66 on your answer sheet write “True” if the statement is true; write “False” if it is false.

57. The entry for the bank reconciliation item caused Cash in Bank to increase.

58. The correcting entry to Petty Cash caused that account balance to increase.

59. The adjustment for the estimated bad debt expense reflects 3% of net sales.

60. Merchandise Inventory increased from beginning to ending inventory.

61. The equipment purchased before 2004 was fully depreciated as of 1-1-04.

62. The adjusting entry to FICA Tax Payable includes $459 for social security and


$87 for medicare for the employer’s matching expense.

63. The December payroll tax expense entry includes $8 of federal unemployment tax 


expense calculated on the gross wages of one employee.

64. The year-to-date wages of all employees exceeded the maximum for medicare tax.

Group 7 continued

65. The debit portion of the adjusting entry to record store supplies used includes a


debit to Store Supplies Expense for $1,972.

66. The amount of gross profit is $208,736.

Continue to refer to Table 2 and the work sheet.  For questions 67 through 75 write the identifying letter of the best response on your answer sheet.

67. The entry to write off the Jayhigh Co. account included the following:



  Accounts

      Allowance for



Bad Debt



Receivable

Uncollectible Accounts 

 Expense

A.
     credit


   (no entry)



   
    debit


B.
     debit



      credit




 (no entry)


C.
     credit


      debit




 (no entry)


D.     (no entry)


     credit


  

    debit


E.
  (no entry)


      debit


 

    credit

68. The correcting entry to Petty Cash included the following:


         Store
       Store Supplies
     
Postage
       Petty Cash


  
Supplies
     Expense

Expense

  Expense


A.    debit

     (no entry)

   debit

  
  (no entry)


B.  (no entry)
        debit

          debit

  
  (no entry)


C.  (no entry)
     (no entry)

(no entry)

     debit


D.    debit
            (no entry)

   debit

     
     debit

69. The entry to record the estimated amount of uncollectible accounts expense 


includes a:


A. debit of $685 to Allowance for Uncollectible Accounts


B. credit of $2,375 to Allowance for Uncollectible Accounts


C. credit of $685 to Accounts Receivable


D. credit of $955 to Allowance for Uncollectible Accounts


E. debit of $1,640 to Bad Debts Expense (or Uncollectible Accounts Expense)

70. The amount of the adjustment for store supplies used is:


A. $685

B. $1,625
C. $1,845
D. $1,972
E. $3,470

71. The entry to adjust the merchandise inventory includes:




  Merchandise
     

   Income
   
  Inventory


 
 
    Inventory
  

 Summary

   Expense


A.

 debit $42,690

   credit $42,690
         (no entry)


B.

credit $40,710

    debit $40,710
          (no entry)


C.

 credit $1,980

    debit $1,980

   (no entry)


D. 

 debit $1,980

       (no entry)

 credit $1,980


E. 

 credit $1,980

       (no entry)

 debit $1,980 


F.
 both A and B

Group 7 continued

72. On the line for Prepaid Insurance on the work sheet, the amount in the trial balance


debit column represents the value of insurance premiums


A. paid for during 2004


B. unexpired as of 1-1-04 plus premiums paid during 2004


C. expired during 2004


D. unexpired as of 1-1-05

73. The adjusting entry for insurance includes:

        Prepaid Insurance
       Insurance Expense

A.
$2,150 debit



$2,150 credit


B. 
$2,150 credit



$2,150 debit


C.  
$3,630 debit



$3,630 credit


D.
$3,630 credit



$3,630 debit

 *74. The depreciation expense for 2005 on the asset bought April 1, 2004 will be:


A. $900
       B. $2,400       C. $2,700       D. $3,600

75. The state unemployment tax on the December payroll is calculated on the wages of 


the employees as follows:


   Brokaw         Rather
        Williams
       Jennings

A.
$60


zero


$60



zero


B.  zero


zero


$25



$35


C.  zero


zero


$35



$25


D.  zero


zero


zero


$60

Continue to refer to Table 2 and the work sheet.  For questions 76 through 80, write the correct amount on your answer sheet.

 *76. What is the subtotal of the work sheet’s income statement debit column before net


income (loss) is calculated?

77. What is the book value of Accounts Receivable as of 1-1-05?

 *78. What is the subtotal of the work sheet’s balance sheet debit column before net


income (loss) is calculated?

 *79. What is the subtotal of the work sheet’s balance sheet credit column before net


income (loss) is calculated?

 ***80. What is the amount of net income (loss)?  (On the answer sheet, your answer 


must include “INC” if it is net income or “LOSS” if it is net loss.)

This is the end of the exam.  Please hold your exam and answer sheet until the contest director calls for them.  Thank you.

TABLE 1

(for questions 50 through 56)

On January 10, 2004 London Hilton and Shania Train agreed to form a partnership to operate a modeling agency.  Each partner agreed to invest the following assets in the new business:

	
	Hilton
	
	Train

	
	Original Cost
	Market Value
	
	Original Cost
	Market Value

	Cash
	22,500
	22,500
	
	
	

	Computer Equipment
	5,000
	2,500
	
	
	

	Office Furnishings
	80,000
	65,000
	
	
	

	Land
	
	
	
	10,000
	20,000

	Building
	
	
	
	25,000
	40,000


The columns marked “original cost” indicate the original cost of the items paid by each individual on various dates prior to the partnership formation.  Hilton and Train hired a certified appraiser to give them a current market value of the various assets.  The findings of the appraiser appear in the “market value” columns.

On April 10, 2004, the partners made additional investments as follows:

	Hilton
	$80,000
	
	Train
	$20,000


On November 15, 2004, the partners made withdrawals as follows:

	Hilton
	$8,000
	
	Train
	$2,000


The net income for the year ended 12-31-04 was $60,000.

The partnership agreement states that net income for the year 2004 is to be divided based on each partner’s original investment.  For each subsequent year, net income is to be divided based upon each partner’s capital account balance as of the beginning of each respective year. 

TABLE 2

(for questions 57 through 80)

The full-time bookkeeper for Chica Company had to take an unexpected leave of absence near the end of December 2004.  Some routine accounting entries had not been made at that time.  The company hired an accountant who was instructed to make any of these routine entries and any necessary correcting entries along with the year-end adjusting entries.  The company has a fiscal year end of December 31 and makes adjusting journal entries only at year end.

(It is recommended that you address each of the following items in the order they are presented.)

The accountant’s first step was to determine that the general ledger was in balance.  The accountant prepared the trial balance on the work sheet on page 12 and was satisfied that it was in balance.

The accountant then found that the December bank reconciliation needed to be prepared.  The only reconciling item requiring an entry was the bank service charges of $25.

On December 31, 2004, the accountant counted $250 in cash in the petty cash box.  This is the normal balance the company chooses to have on hand.  A review of the general ledger accounts revealed that the final replenishing entry in December was posted as follows:




Petty Cash


189





Cash in Bank

189

The petty cash slips (vouchers) for this final replenishing were postage $62 (which had been used in December for the company’s Christmas greeting mail out) and $127 in store supplies which had not been used by year end because the accountant found these supplies listed on the physical inventory report for store supplies.

The accountant reviewed the Accounts Receivable subsidiary ledger and found a post-it-note that the bookkeeper had written.  It was a reminder to write off the past-due account of Jayhigh Co. for $685 if not received by year end.  The accountant confirmed this with the owner and made the appropriate entry to write off the uncollectible account, as payment had not been received to date.

The company estimates bad debt expense by using the aging of accounts receivable method.  The accountant prepared the aging analysis of accounts receivable and estimated that a total of $2,375 of its accounts receivable will be uncollectible.  The appropriate entry was prepared.

Table 2 continued

The accountant found the report prepared by an outside company hired to do a physical inventory of merchandise inventory and store supplies on hand as of 

12-31-04.  This report indicated the following amounts:



Merchandise inventory
$40,710



Store supplies

   

    1,625

A review of the insurance policies in force revealed that $2,150 in premiums were for insurance coverage for months in 2005.

The asset and depreciation records were reviewed.  The only depreciation expense that needs to be recorded is that of a new machine bought on April 1, 2004 for $27,700 with a salvage value of $2,500 and an estimated useful life of 

7 years.  The depreciation schedule shows that company policy is to use the straight-line method and to record depreciation only at year-end.

The accountant reviewed the employee earnings records and verified that Salary Expense in the general ledger was correctly recorded.  However, the accountant found that the monthly payroll tax entry recording the employer’s payroll tax expense for the December payroll had not been recorded in the general ledger.  The following is a summary of the December and year-to-date payroll information by employee:

	
	Gross Salary

	
	December
	YTD

	Adrian Brokaw
	1,000
	17,500

	Sammy Rather
	2,000
	32,000

	Jamie Williams
	2,000
	9,600

	Sally Jennings
	1,000
	6,200


Social Security matching rate is 6.20% on first $87,900 in wages per employee.

Medicare matching rate is 1.45% on all wages.

Federal Unemployment Tax is .8% on first $7,000 in wages per employee.

State Unemployment Tax is 2.5% on first $9,000 in wages per employee.
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	Chica Company

	Work Sheet

	For the Year Ended December 31, 2004

	Account Title
	Trial Balance
	Adjustments
	Income Statement
	Balance Sheet

	
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit

	Cash in Bank
	7,260
	
	
	
	
	
	
	

	Petty Cash
	439
	
	
	
	
	
	
	

	Accounts Receivable
	25,680
	
	
	
	
	
	
	

	Allowance for Uncollectible Accts.
	
	1,420
	
	
	
	
	
	

	Merchandise Inventory
	42,690
	
	
	
	
	
	
	

	Store Supplies
	3,470
	
	
	
	
	
	
	

	Prepaid Insurance
	5,780
	
	
	
	
	
	
	

	Equipment
	90,250
	
	
	
	
	
	
	

	Accum. Depr.—Equipment
	
	62,550
	
	
	
	
	
	

	Accounts Payable
	
	19,675
	
	
	
	
	
	

	FICA Tax Payable
	
	459
	
	
	
	
	
	

	Fed. Unemployment Tax Payable
	
	
	
	
	
	
	
	

	State Unemployment Tax Payable
	
	
	
	
	
	
	
	

	Damon Sanders, Capital
	
	28,504
	
	
	
	
	
	

	Damon Sanders, Drawing
	40,000
	
	
	
	
	
	
	

	Income Summary
	
	
	
	
	
	
	
	

	Sales
	
	521,840
	
	
	
	
	
	

	Purchases
	311,124
	
	
	
	
	
	
	

	Salary Expense
	65,300
	
	
	
	
	
	
	

	Payroll Tax Expense
	4,902
	
	
	
	
	
	
	

	Rent Expense
	25,200
	
	
	
	
	
	
	

	Postage Expense
	11,670
	
	
	
	
	
	
	

	Bank Charges Expense
	683
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	634,448
	634,448
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	


